
Lesson 7.7
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Find two factors of 16 that when multiplied 

together give the top number, and when 

added together give the bottom number.
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Find two factors of 16 that when multiplied 

together give the top number, and when 

added together give the bottom number.

Factors of 16:

1, 16

2, 8

4, 4

= 17

= 10

= 8
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𝑝 • 𝑞

𝑝 + 𝑞

Find two factors of 16 that when multiplied 

together give the top number, and when 

added together give the bottom number.

Factors of 16:

1, 16

2, 8

4, 4

= 17

= 10

= 8

Factored Form: (𝑥 + 2)(𝑥 + 8)



1

2
1 1

= (𝑥 + 1)(𝑥 + 1)

8

9
8 1

= (𝑥 + 8)(𝑥 + 1)

8

6
4 2

= (𝑦 + 4)(𝑦 + 2)

24

11

8 3

= (𝑧 + 8)(𝑧 + 3)



Find two negative factors of 12 that when 

multiplied together equals positive 12, and 

when added equals negative 8.

The Magic X

12

−8
−2 −6

𝑝 • 𝑞

𝑝 + 𝑞

Factors of 12:

−1,−12

−2,−6

−3,−4

= −13
= −8

= −7

Factored Form: (𝑥 − 2)(𝑥 − 6)



3

−4

−3 −1

= (𝑤 − 3)(𝑤 − 1)

35

−12

−7 −5

= (𝑛 − 7)(𝑛 − 5)

24

−14

−2 −12

= (𝑥 − 2)(𝑥 − 12)



If the middle term is positive and the last term is negative, 

then one factor is negative and the other factor is positive.  

The larger number must be positive.

Factoring 𝒙𝟐 + 𝒃𝒙 − 𝒄

𝑥2 + 4𝑥 − 5Example

The Magic X

−5

4
5 −1

𝑝 • 𝑞

𝑝 + 𝑞

= (𝑥 + 5)(𝑥 − 1)



If the middle term is negative and the last term is negative, 

then one factor is negative and the other factor is positive.  

The larger number must be negative.

Factoring 𝒙𝟐 − 𝒃𝒙 − 𝒄

𝑥2 − 13𝑥 − 48Example

The Magic X

−48

−13
−16 3

𝑝 • 𝑞

𝑝 + 𝑞

= (𝑥 − 16)(𝑥 + 3)



8. 𝑥2+2𝑥 − 15 9. 𝑦2+13𝑦 − 30

10. 𝑧2−𝑧 − 12 11. 𝑚2−11𝑚 − 26

−15

2

5 −3

= (𝑥 + 5)(𝑥 − 3)

−30

13

15 −2

= (𝑦 + 15)(𝑦 − 2)

−12

−1

−4 3

= (𝑧 − 4)(𝑧 + 3)

−26

−11

−13 2

= (𝑚 − 13)(𝑚 + 2)



The diagram shows that the side length is at least 30 meters, so 10 meters does 

not make sense in this situation.  The width is 60 meters.

So the area of the plot of land is 60(60) = 3600 square meters.
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